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HRS—2 BEMIERTILETSNAHERICHIZFE/) i} HEFE | FRUISEE
2EFHtOaE | BRES | 15981006 | B4 \ INH-1 | FRfEHh KEm = EETHE /M
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ﬁg TREOBBOEILNDOKRES ITREOHBEEILNOKRES TREOBEOEILADKRES ITWEOHBSEILADKRES
R ma | BT e | B2 | e | o e | B2 | BT e | B2 | TR | & |
9 100kN/m##8% % 1.00{0.00 ~ 3.14 150.06| 3m*# %% 0.00 ~ 0.05[ 3.03 16.21| 100kN/m#%#B 2% 1.00{ 10.53 ~ 28.96 150.06| 3m%*#8% %] 25.00 ~ 28.96| 3.03 16.21
s 1.00] 3.14 ~ 10.92 100.00f Z=hl9t | 0.05 ~ 10.92] 3.00 16.05 s 1.00f 5.00 ~ 10.53 100.00f Z=hl4t+ | 5.00 ~ 25.00( 3.00 16.05
3 100kN/m##8 %% 1.00{0.00 ~ 292 146.35| 3m%x 4825 ol ~ = = —| 100kN/mM%#8Z % 1.00{ 10.54 ~ 24.96 146.35| 3m%x{B 25 =l ~ - - =
s 1.00]2.92 ~ 10.71 100.00f Z=h k4t | 0.00 ~ 10.71] 2.74 14.67 s 1.00f 5.00 ~ 10.54 100.00f Zhlst | 5.00 ~ 2496 2.74 14.67
4 100kN/m##8 %% 1.00{ 0.00 ~ 2.96 146.92| 3m%x#B2 5 ol ~ = = —| 100kN/mM%#2Z % 1.00{ 10.60 ~ 24.95 146.92| 3m%x#B2 5 =l ~ - - =
s 1.00{2.96 ~ 10.74 100.00f Z=hkist | 0.00 ~ 10.74| 2.78 14.90 s 1.00f 5.00 ~ 10.60 100.00f Zhlst | 5.00 ~ 2495 2.78 14.90
5 100kN/m##8 %% 1.00{ 0.00 ~ 0.83 112.38| 3m%x#B2 5% ol ~ = = —| 100kN/mM%#2Z % 1.00{ 10.54 ~ 12.95 112.38| 3m%x#B 25 =l ~ - - =
s 1.00/0.83 ~ 8.61 100.00f Z=hlst | 0.00 ~ 8.61| 2.21 11.82 s 1.00f 500 ~ 10.54 100.00f Zhist | 5.00 ~ 12.95| 2.21 11.82
6 100kN/mM%#BZ % -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ B -~ = = =
s 1.00|0.00 ~ 5.01 62.46| zhLlst | 000 ~ 501| 1.97 10.56 s 1.00f 500 ~ 5.96 6246 zhLl4+ | 500 ~ 596[ 1.97 10.56
7 100kN/mM%#BZ % -l -~ = -|3mEBZS -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 -~ = = =
s 1.00{0.00 ~ 239 31.90| ZhLlst |0.00 ~ 239| 248 13.27 s 1.00f 500 ~ 5.00 31.90| #nkist | 500 ~ 5.00f 248 13.27
9 100kN/m##8 %% 1.00{0.00 ~ 3.17 150.63| 3m*x# %% 0.00 ~ 0.11 3.06 16.37| 100kN/m#%#B 2% 1.00{ 10.53 ~ 28.65 150.63| 3m%#8% %| 25.00 ~ 28.65| 3.06 16.37
s 1.00{ 3.17 ~ 10.95 100.00f Z=h 4t | 0.11 ~ 10.95| 3.00 16.05 st 1.00f 5.00 ~ 10.53 100.00f Z=hl4t+ | 5.00 ~ 25.00( 3.00 16.05
10 100kN/m##8 %% 1.00{0.00 ~ 3.24 151.83|3m%x# %% 0.00 ~ 0.17[ 3.09 16.51| 100kN/m#%#8 2% 1.00{ 10.58 ~ 33.48 151.83| 3m%x#% %] 30.00 ~ 33.48| 3.09 16.51
s 1.00{3.24 ~ 11.02 100.00f Zh st | 0.17 ~ 11.02] 3.00 16.05 st 1.00f 5.00 ~ 10.58 100.00f Z=hl4t+ | 5.00 ~ 30.00f 3.00 16.05
11 100kN/m##8 %% 1.00{ 0.00 ~ 3.09 149.26| 3m%x# %% 0.00 ~ 0.1 3.06 16.37| 100kN/m#%#8 2% 1.00{ 10.53 ~ 27.48 149.26| 3m%x#8% 5| 25.00 ~ 27.48| 3.06 16.37
s 1.00{ 3.09 ~ 10.88 100.00f Z=hl4t+ | 0.11 ~ 10.88] 3.00 16.05 s 1.00f 5.00 ~ 10.53 100.00f Z=hl4t+ | 5.00 ~ 25.00( 3.00 16.05
12 100kN/m##8% % 1.00{ 0.00 ~ 2.69 142.31|3m%x#B25 ol ~ = = —| 100kN/mM%#BZ % 1.00{ 10.94 ~ 29.14 142.31|3m%x{B25 =l ~ - - =
s 1.00] 2.69 ~ 10.47 100.00f Z=hkist | 0.00 ~ 10.47| 2.87 15.36 st 1.00f 500 ~ 10.94 100.00f Zhl4t | 5.00 ~ 29.14| 2.87 15.36
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ FhLst ~ st ~ st ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImERBAD ~
zh st ~ FhLst ~ FhLst ~ ZFhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ FhLst ~ st ~ ZFhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
zh st ~ ZFhLst ~ st ~ ZFhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ ZFhLst ~ st ~ ZFhLst ~
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